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Determinant: Determinant is the numerical value of the square matrix.
So, to every square matrix A = [ai]] of order n, we can associate a number
(real or complex) called determinant of the square matrix A. It is denoted

by det Aor |A|.
Note
_A{i) Read |A| as determinant A not absolute value of A.

_Ali) Determinant gives numerical value but matrix do not give numerical

value.

_lifi) A determinant always has an equal number of rows and columns, i.e.

only square matrix have determinants.
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Evaluate the determinants in Exercises | and 2.
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1. Find area of the triangle with vertices at the point given in each of the following :
(i) (1,0), (6,0), (4, 3)

(i) (2, 7), (1, 1), (10, 8) T

(i) (=2, -3), (3, 2), (-1,-8)
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Find adjoint of each of the matrices in Exercises 1 and 2.
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Applications of Determinants and Matrices

A. Solution of system of linear equations using inverse of a
matrix
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Solve the following system of equations by matrix method.
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